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image1.tiff
An empty box weighs 0-5 kg. Ivy puts 10 toy bricks inside it and the box now How much does the car weigh in grams?

weighs 2kg. How much does the doll weigh in grams?
How much does each brick weigh?





image2.tiff
Put these amounts in order starting with the largest. Fill in the missing boxes so that the amounts are in order from smallest to

= Half of 3 litres greatest.
= Quarter of 2 litres
= 300 ml 1. 1 i 1 i
32 litre 3 of 2 litres Z of 3 litres

millilitres millilitres

Explain your thinking.
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What is the mass of flour on the scales? 6 toy cars balance 2 dolls. 4 dolls balance 1 toy robot.

I need %kg of flour to make a cake.
How much more flour do | need to add to the scales?

If the robot weighs 3 kg, what does each toy car weigh?




image4.tiff
There is a tea urn and a teapot. The bottles next to them show their capacity.
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How much more water does the urn hold than the teapot?

These lemonade bottles each have a capacity of 2 litres.
One of themis %full, and one of them contains % of a litre of water.
Which is which?

How much water is in the bottle which is %full?
What fraction of the bottle is full in the bottle which contains %ofa litre?




